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A courtyard held in — b7 By T By 73 20 penw Taxn
partnership; there is a liability for J2 and %3 for either partner

Overview

The Xn3 cites a NP2 between X707 27 who maintains that 9371 J@ are 20
in a *Pomwi 7xm and 19K ' who maintains that they are Mw». Later the X1m3
1s going to discuss (and differentiate) between two types of Pomwn xm.
There 1s a oMW %1 for N17°0 only, but neither partner has the right to bring
his oxen in the 7% (in this case there is more reason to hold the p°17 liable);
and there is a 7omMwn 7¥n where both partners can bring in their M7% and
their 2> (in this case there is less reason to hold the p°17a liable). It is not
clear in which type of amws 7%n do 1"7 and X" argue (according to the
initial understanding of the X713). Our M»doIN addresses this issue.

— 909 DYIMYY XY M9%9D 1H1Na
They (q1¥%% ' X701 27) argue concerning a Ponmwi 1xn which was

designated for storing produce, but not for oxen. Both partners had permission
to use the 7x¥17 to store M7°9, but were mutually not permitted to bring (their) oxen into
this 2xm.

— MANT NP11292) NI %297 NOWIPa 19 9Y NoN0N 9192 N1

As is evident in the end of x>0 that 1'"7 and X" argue in the same manner

as the challenge of X1 ' and the resolution of »ax.*
— TYHN 79 Y9IV 195 NIVNN WD NTON 29 D199 NN 1Y 2ab

And according to this (that 7" maintains that there is a 21 only if it is
D MwH X9 Mveh i) 87om 29 could have interpreted the mawn as X''9

interprets it (that there is no 271 by a Pomwa 8”) -
— 91097 RTON 29 AT DIV M9 HTNINA PI1NNY PIIN MY W9

And 1"7 would interpret the phrase P m P17 nwa of our mwn to be
discussing a M1 which is set aside for both m=» and 2w (for both

partners), for in that situation (even) 1" admits that the p>m is 912, since it
is not a NN 77W at all. .
— 9959 NY 9 1PNINN NIADM YN 539 9 NN *1aHY 19090

And our texts read later in the X3, ‘X' will say; and do you think that
the nin>>1a do not argue?!’*

"tis (highly) recommended that the entire X210 (until [X,7°] »aR7 X17°927) be studied first.
2 The case is where one of the 1omw damaged his partner in this 7%17 through "w.
3

X, 7 17005.
* 871 ' asked how can A0y 27 maintain that by a N11°9% oIS NIRRT T3 there is a 217 of JW; it should not
be considered a 1R 77w, since the 11 has permission to place his N17°3 in this 7x7.To which »2X replied
that since the P> has no permission for his ox to be in the 7%, therefore (in reference to the ox) it is
considered a 7nX 77w. Similarly X701 27 follows the opinion of »aX and X" follows the opinion of 1"-.
5
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mooIn offers an alternate view':
— 9999 9 PPNINN NIADM NPT Y09)NT D990 1)
However according to the text that read; ‘and do you think that the

mnsa2 argue?!’
— 9TYHN 2249 99271 AT DY NN NN 3 NN Y09) 9102)

And at the end (after the conflicting Xn>72 was cited) the text reads: ‘but
rather we must say; when was that 8n»»2 taught, etc.” And all of this
(citing the conflicting Xn>72 and resolving the conflict), is the statement of
N"ﬂ -

— DMV MDD NHTNINA IIPTDT 91210 T298)
And therefore (if we follow this last Xo7°3) it will be necessary to say that

X" 1" argue by a 7xn which is *av1w nveb nTmn -
— 9919 %N 9319999 KY INTI KIN 9915 N2INDY 21999 1 NIADM NYITS 19

And this is the explanation (of s'X"7 response to the question from the
Xn>72 of 701" 217); ‘and do you think that there is an argument! But we
learnt, etc. (that a oMW X7 is MWd); but rather we must assume that the
two mn>72 do not argue, and when it is taught (in one X072 that he is

WD it is in a case of MW N1°D 2°TI1N) etc.
— NP2 199 XODN NPIND 1977 XY 11 XD 299

And according to this 829 the beginning of this X°x0 will not be the
same as the conclusion, which is -

$9%ANT N?19°92) X1 2297 NOVIPA DT
that X"71 1"7 argue similarly to the 287 RP21759921 X7 97 RWP (which is in a
case of DMWY X7 MP07 T71°n), however X071 NnN2A the NPI?NR is by 2mIw? N7mn.

Summary
If we are 073 later %5 X%7 X120 then we can maintain that the (initial)

nPonn between X" 117 is by a MW XY MO NIAPNRT T80 (as it seems
from the Xipon). If however the Xo7°3 is 3797 X720M then the nponn
(initially) is @MW MP9% NIAAT X0

Thinking it over

® The X1 challenged X" from a Xn*"2 cited by 7ov 27 which states clearly that 2»snwi 1% is 20 for W
93. To which X" responded that there is another &n>>72 that argues with the Xn>12 of *"1 and maintains
that 2" is 1o 7% MW (and X" will follow the latter Xn*>12). The &) then reconciled the two
mn»™2 (the Mo is if it is "MW M2 N7y, and the 21 is if it is 2 MWD X7 M2 n7Mn). The Xmx
subsequently concludes that X" 11" are arguing in a case of 2™ MW" 821 N7 My, whether it is
considered a MK 77w as 1"7 and »2R argue (concerning the Xn>>72 of "). This is what M501N maintained
initially. See ‘Appendix’.

7 According to this (alternate) view it will be understood why "1 could not have interpreted the 71wn as X"
does (for according to this Xo7%) the nP12nn between X" 1"7 is by a @MW MY TR I30).

¥ X" reconciles the mn™13, inferring that he is discussing a case of 07w T1» and that is why it is M1ws.
See ‘Appendix’. See (also) ‘Thinking it over’.
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According to the °0737 ™90, that the npYonn between X" 1" is  7¥ma
DMWY N1DY NTMna, what is the reason of 1" that there is a 21917 for 1" w?!
Seemingly it is not a 2K 77!’

Appendix
There are two Nin>72; the Xn>12 of *"7 which maintains PPaMWa X7 1s 20

for 2" (this [seemingly] contradicts &"9 and supports 11"7) and the &Xn>72 of
X'"2w" which states that 7"\ 1s POMWA X2 MWD,

If the &07°) (to explain the view of X"1) is 399 X7 *» X120M (inferring that
the mn»72 argue), it would mean that X"9 follows the view of the Xn>72 of
x"aw1.'"" Since according to this X0 there is no reconciliation of the
“mn”'m, it 1s assumed that the Xn»72 of °"7 (which argues on the Xn>72 of
X"awn), is (also) discussing a 7¥n which is 2™MwH X Mo 0rn, and
agrees with the 7vw of "7 (for if it 1s 77» for both, it is unreasonable to
assume that there would be a 2117 for °"W). According to this X07°3 (even)
the initial understanding of the NP1 between X" "9 is by a NI I8N0
DML X7 N0 [and by a oaw? T O30 (even) " would agree that it
is Mwo].

If however the X0} is 3957 X120m (and X" is resolving the difference
between the nn*01), then the inference is that the two mMnp»2 are
reconcilable (the 19 is by oW 7M1, and the 20 by oMW 7191 PX), we
will therefore have to assume that X"2 who maintains M9 is discussing 7M™
oIy (for if it is not 2 MWY 711°n, the Xn»02 [of >"1] claims that he is 2°°17).
It follows that the np17rn is by omawh Tmvn only, but by meb irn
everyone would agree that he is 2>11. The Xipon of the X3 however is that
the nPYonn is by MWL X9 M9 7M1, not how we originally thought.

? See 7"0.

' This xn>72 maintains that one is always M9 by a oMW J¥A even if it is ™MW K9 MDY TN
(otherwise there is no [need to assume a] npY2mn between the NIN>>12 [for they can be reconciled]). 8" will
not agree to the subsequent resolution (of the nMn>72) that the Xn»72 of X"2w" is only by a T11MA XN
07°1w2, but he will rather maintain that even by a 2°Mw% 821 M°5% 71 80 there is no 21 (as is the view
of X7°1 "9). [It will be 1" who agrees to the resolution.]

' The 1¥7n did not appreciate any difference whether it is 0721w T1% or 77 only for n17°9; according to
X"7 there is never a 27r.

2 X" is answering that there is no difficulty from the Xn>2 of *"3 (since that is discussing M"5% P TMR)
for X" is discussing the same case as the X"2w17 Xn*>72 where it is 27w TR,
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